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W ATWEIZRIBESE B 16 % AN=AR DL ATTEIIETESZE AL 35 % ey
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S E FEEM | B 2| & E {2 - B FEEH | B | & E % B
FT 7 = B 10 ke 1, 620 1,080 | &rA FOER L - 10 ke 3, 780 1,620
A Y IR IR L 200 g 129 86 || 5L 5 10 ke 5, 184 2, 592
LA = B 250 g 86 - EF = B 10 ke 4, 860 2, 160
gD = 200 g 64 43 | 7RI E— = B 250 g 594 -
E9NAE D = R 200 g 86 75 | QDD A 250 g 669 378
CRCES = B 8 ke 4, 860 2,160 | HHFEE = B 270 g 918 864
LwAEL x & 160 g 118 Q7 | T— R A % A 9 ke 9, 720 7,128
AN Y £ % 10 ke 1, 296 —
SR AT A & 10 ke 3, 780 2, 160
FEEIZA C A £ I 10 ke 1,728 864
< EWN KO 15 ke 1, 080 756
oy = A 10 ke 1, 080 864
L&A Tt 10 ke 2,916 2, 160
XwIH Y = 5 ke 2,160 1,728
ASrh mE 5 ke 1,944 —
bk AE K 4 ke 2, 484 —
B AN 150 g 75 —
IEN L X AbiEIE 10 ke 1, 620 864
mEhE T 10 ke 2, 592 2, 484
E LW m 5 100 ¢ 194 108
LDl £ B 100 g | 75 59




RERPLEEREER 12 TH WO Kk E MO OOk % B 46 t
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j =2 ycl i} +
. E FEEREH L | = fH Z B A B | FEEH | B | 5 E = B
AFEAHE R 1keg . 1, 944 1,512 | |y F Y 1 ke 2, 808 1,080
aESCAHE KA 1 ke 1,263 — I HgP J IV = — 1 ke 1,296 540
T o 1ke 2, 430 108 | #7= T ZE 1 ke 2, 160 1, 080
Y3 B O 1ke 2, 484 324 | AEf - FnEgkL 1 ke 1, 404 -
AT JevgiE 1 kg 864 648 || FU AV It fE 1 ke 3, 780 1,620
AV A AT FoFR L 1 ke 1, 404 1,296 | BTV~ JeiEE 1 ¥ 248 162
VANSA " 5 1 ke 1,728 388
EZA E 1ke 1, 458 972
E& = It E 1 ke 2, 700 1, 944
/Nt — — — | —
73U i 1ke 1,674 540
77 3 & 1 ke 6, 480 324
EHE7Y BIRE 1 ke 2, 052 972
Y5 ol 4 1ke 2, 160 432




